Extra Practice Problems

Mr. Thornybottom wants to breed red roses. Red color in roses is dominant to white color. He has red
roses in his garden but he needs to figure out if they are heterozygous or homozygous. Suggest a way that
Mr. Thornybottom could test his red roses to find out their genotype (hint, he does have white roses
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2. Pretend Mr. Thornybottom crossed his red roses with white roses and got all red roses from the resulting
seeds. What would be the expected phenotypes and genotypes if the new red roses were allowed to self-

fertilize
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3. a. When a white cow and a dark bull are bred the resulting calves usually have a spotted, white and dark color

pattern known as roan. Show this cross.
b. What would be the expected phenotypes and genotypes if two roan cattle were allowed to mate?
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4. In Indiana land sharks blue color is dominant to white and pointed teeth are dominant to round. A male land
shark who is homozygous for blue color and sharp teeth mates with a female land shark who is homozygous for

white color and round teeth. Show:
1) A P cross from above
2) A, Cross from above 2 )5 % / . ﬁ / /9
[ - Blae ,Z’rwiffg/ %b @@WP
g oo L
2. 0,940 e S 5b. b7 R bol, /W/W
fr rp- printe NPkt By [zp ,,,, 849,

. BpPP x Lt
i & e
A~ (b Geuo 19817 2881, 108, LBLIP Yoy
5. 2
b ” 2 8y LAY Mﬁ% Wit
é* 6&&; /// ﬁ'ﬂ/ ﬂ@(@ 75and~fan+q/ St 7‘61/94‘#
ﬂr&of /// é/“czﬁ%*’f%/ 3 Bl e ndt § /a/ia'ftf/[jwnj




